

Home Search Collections Journals About Contact us My IOPscience

Fedosov differentials and Catalan numbers

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2010 J. Phys. A: Math. Theor. 43 235404

(http://iopscience.iop.org/1751-8121/43/23/235404)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.159 The article was downloaded on 03/06/2010 at 09:19

Please note that terms and conditions apply.

J. Phys. A: Math. Theor. 43 (2010) 235404 (13pp)

doi:10.1088/1751-8113/43/23/235404

# Fedosov differentials and Catalan numbers\*

#### Johannes Löffler

Mühlgasse 19, 78549 Spaichingen, Germany

E-mail: j.j.loeffler@web.de

Received 14 October 2009, in final form 14 April 2010 Published 20 May 2010 Online at stacks.iop.org/JPhysA/43/235404

#### Abstract

The aim of the paper is to establish a non-recursive formula for the general solution of Fedosov's 'quadratic' fixed-point equation (Fedosov 1994 *J. Diff. Geom.* **40** 213–38). Fedosov's geometrical fixed-point equation for a differential is rewritten in a form similar to the functional equation for the generating function of Catalan numbers. This allows us to guess the solution. An adapted example for Kaehler manifolds of constant sectional curvature is considered in detail. Also for every connection on a manifold a familiar classical differential will be introduced.

PACS numbers: 02.40.Gh, 02.40.Tt, 04.60.-m, 03.65.-w, 02.10.De

### 1. Introduction

#### 1.1. Deformation quantization

Let  $(M, \Pi)$  be a Poisson manifold. The Poisson bracket  $\{\cdot, \cdot\}$ :  $C^{\infty}(M)[[\lambda]] \times C^{\infty}(M)[[\lambda]] \to C^{\infty}(M)[[\lambda]]$ , where  $\lambda$  is a formal parameter, is defined by

$$\{f,g\} := \Pi^{ik} \frac{\partial f}{\partial x^i} \frac{\partial g}{\partial x^k}.$$

The central definition in the theory of deformation quantization, established by Weyl and Moyal [14], Berezin [3, 4], and Bayen, Flato, Frønsdal, Lichnerowicz and Sternheimer [1, 2], is as follows.

A star product on  $(M, \Pi)$  is a binary operation  $\star : C^{\infty}(M)[[\lambda]] \times C^{\infty}(M)[[\lambda]] \rightarrow C^{\infty}(M)[[\lambda]]$  with the following properties:

- $\star$  is a  $\mathbb{C}[[\lambda]]$ -bilinear associative product
- $f \star g = \sum_{l=0}^{\infty} \lambda^l C_l(f, g)$  with bi-differential operators  $C_l$
- $1 \star f = f = f \star 1$

• 
$$C_0(f,g) = fg$$

•  $C_1(f,g) - C_1(g,f) = i\{f,g\}$ 

\* Dedicated to the memory of Nikolai Neumaier.

1751-8113/10/235404+13\$30.00 © 2010 IOP Publishing Ltd Printed in the UK & the USA

A star product is continuous in the  $\lambda$ -adic topology.

Two star products on a Poisson manifold are called equivalent if there exists a formal series  $E = id + \sum_{l=1}^{\infty} \lambda^l E_l$  of  $\mathbb{C}[[\lambda]]$ -linear differential operators  $E_l : C^{\infty}(M)[[\lambda]] \to C^{\infty}(M)[[\lambda]]$  with E(1) = 1,  $E_l(1) = 0$  for  $l \ge 1$  and

$$f \star g = E^{-1}(Ef \star' Eg) \quad \forall f, g \in C^{\infty}(M)[[\lambda]].$$

### 1.2. Fedosov's quantization of symplectic manifolds

Fedosov's geometric construction yields elegant, intrinsically defined formulae for all equivalence classes of star products on symplectic manifolds and is central for their classification.

According to Cattaneo, Felder and Tomassini the construction can also be adapted to globalize Kontsevitch's formality theorem [12] and construct a star product on any Poisson manifold [6].

The following sketch slightly differs from the one in [18] and Fedosov's notation and construction in [8].

1.2.1. The formal Weyl algebra The formal Weyl algebra  $\mathcal{W} \otimes \Lambda^{\bullet}$  is central in Fedosov's quantization of a symplectic manifold  $(M, \omega)$ . It is defined by the complexified bundles

$$\mathcal{W} \otimes \Lambda^{\bullet} := \left(\prod_{s=0}^{\infty} \Gamma^{\infty}(\vee^{s} T^{*}M \otimes \Lambda^{\bullet} T^{*}M)\right) [[\lambda]].$$

The  $\mathbb{C}[[\lambda]]$ -linear degree maps deg<sub>s</sub>, deg<sub>a</sub>, deg<sub> $\lambda$ </sub> :  $\mathcal{W} \otimes \Lambda^{\bullet} \longrightarrow \mathcal{W} \otimes \Lambda^{\bullet}$  are defined in the usual way for a factorable tensor of the shape  $S \otimes \alpha$  with  $S \in \Gamma^{\infty}(\vee^{s}T^{*}M)$  and  $\alpha \in \Gamma^{\infty}(\Lambda^{k}T^{*}M)$  by

$$deg_{s}(S \otimes \alpha) := s(S \otimes \alpha)$$
$$deg_{a}(S \otimes \alpha) := k(S \otimes \alpha)$$
$$deg_{\lambda}(S \otimes \alpha) := \lambda \frac{\partial}{\partial \lambda}(S \otimes \alpha).$$

For  $a \in \mathcal{W} \otimes \Lambda^k$  the notation  $a = \sum_{l,s \in \mathbb{N}} \lambda^l a_l^s$  with deg<sub>s</sub>  $a_l^s = sa_l^s$ , deg<sub>a</sub>  $a_l^s = ka_l^s$ and deg<sub> $\lambda$ </sub>  $a_l^s = 0$  is used. If deg<sub>s</sub> a = 0 the formal series notation  $a = \sum_{l \in \mathbb{N}} \lambda^l a_l$  with  $a_l \in \Gamma^{\infty}(\Lambda^k T^* M)$  and deg<sub> $\lambda$ </sub>  $a_l = 0$  is used.

The projection on the functions  $C^{\infty}(M)[[\lambda]]$  is called  $\sigma$ .

For  $a = f \otimes \alpha \in \mathcal{W} \otimes \Lambda^{k_1}$  and  $b = g \otimes \beta \in \mathcal{W} \otimes \Lambda^{k_2}$  by

$$\mu(a \otimes b) := (f \vee g) \otimes (\alpha \wedge \beta),$$

an associative graded product  $\mu$  is canonically defined and satisfies the property

$$\mu(a \otimes b) = (-1)^{k_1 k_2} \mu(b \otimes a).$$

called anti- or super commutativity. Also the notation  $a \cdot b := \mu(a \otimes b)$  will be used.

A super derivation  $\mathbf{D}: \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+d}$  of degree *d* is a linear map that satisfies the Leibniz rule

$$\mathbf{D}(a \cdot b) = (\mathbf{D}a) \cdot b + (-1)^{kd} a \cdot (\mathbf{D}b),$$

for  $a \in W \otimes \Lambda^k$ . The vector space of super derivations together with the super commutator  $[\cdot, \cdot]$ , defined by

$$[\mathbf{D}_1,\mathbf{D}_2] := \mathbf{D}_1 \circ \mathbf{D}_2 - (-1)^{d_1 d_2} \mathbf{D}_2 \circ \mathbf{D}_1$$

for  $\mathbf{D}_i : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+d_i}$ , is a super Lie algebra.

The degree maps  $\deg_s$ ,  $\deg_a$ ,  $\deg_\lambda$  are super derivations with respect to  $\mu$ .

Let  $\delta : \mathcal{W} \otimes \Lambda^{\bullet} \longrightarrow \mathcal{W} \otimes \Lambda^{\bullet+1}$  and  $\delta^* : \mathcal{W} \otimes \Lambda^{\bullet} \longrightarrow \mathcal{W} \otimes \Lambda^{\bullet-1}$  be defined in local coordinates by

$$\delta := (1 \otimes dx^i)i_s(\partial_i)$$
 and  $\delta^* := (dx^i \otimes 1)i_a(\partial_i)$ ,

where  $i_s$  and  $i_a$  are the symmetric and anti-symmetric contraction, respectively. The operators  $\delta$ ,  $\delta^*$  are  $\mu$  super derivations.

By

$$\delta^{-1}a := \begin{cases} \frac{1}{s+k}\delta^*a & \text{if } \deg_s a = sa, \ \deg_a a = ka \ \text{ and } s+k \neq 0\\ 0 & \text{if } a \in C^{\infty}(M)[[\lambda]] \end{cases}$$

and linear continuation another operator  $\delta^{-1} : \mathcal{W} \otimes \Lambda^{\bullet} \longrightarrow \mathcal{W} \otimes \Lambda^{\bullet-1}$  is defined.

Symmetry and grading arguments show that  $\delta^2 = (\delta^*)^2 = (\delta^{-1})^2 = 0$  is valid. Moreover one has the following homotopy formula.

## Lemma 1.2.1 (Poincaré lemma).

$$\delta\delta^{-1} + \delta^{-1}\delta + \sigma = id.$$

With the commuting symmetric insertion derivations the product  $\mu$  can be deformed for every symplectic manifold in the Weyl–Moyal product, or in the case when (M, g) is a pseudo-Kaehler manifold,  $\mu$  can be deformed in the Wick product as well [5, 16]. Let *P* be defined by

$$P := \frac{1}{2} \Pi^{kl} i_s(\partial_k) \otimes i_s(\partial_l),$$

with the symplectic Poisson tensor  $\Pi$  in the Weyl case or

$$P := 2g^{kl}i_s(\partial_{z^k}) \otimes i_s(\partial_{\overline{z^l}})$$

with the Kaehler metric g in the Wick case. The Weyl–Moyal product and the Wick product, respectively, are defined by

$$a \circ_{\Pi} b := \mu \circ \exp(\lambda P)(a \otimes b).$$

These products  $\circ_{\Pi}$  are still graded, fiberwise and associative. Because of the shape of the Weyl–Moyal product the anti-symmetric degree-map deg<sub>*a*</sub> and the so-called total degree map Deg defined by

$$Deg := deg_s + 2 deg_{\lambda}$$

are  $\circ_{\Pi}$  derivations. The term of total degree k is  $a^{(k)} = \sum_{s+2l=k} \lambda^l a_l^s$ .

Let

$$\mathcal{W} \otimes \Lambda^{\bullet} = \mathcal{W}^{(0)} \otimes \Lambda^{\bullet} \supseteq \mathcal{W}^{(1)} \otimes \Lambda^{\bullet} \supseteq \mathcal{W}^{(2)} \otimes \Lambda^{\bullet} \supseteq \cdots \supseteq \{0\}$$

with  $\bigcap_{d=0}^{\infty} \mathcal{W}^{(d)} \otimes \Lambda = \{0\}$ , be the filtration corresponding to the total degree.

Since the symmetric insertion maps commute  $\delta$  is a super derivation with respect to  $\circ_{\Pi}$ . A bilinear super Lie bracket  $[\cdot, \cdot]$  is defined by

$$[a,b] = a \circ_{\Pi} b - (-1)^{kl} b \circ_{\Pi} a,$$

for  $a \in \mathcal{W} \otimes \Lambda^k$  and  $b \in \mathcal{W} \otimes \Lambda^l$  and

$$[a, [b, c]] = [[a, b], c] + (-1)^{kl} [b, [a, c]]$$

is called the super Jakobi identity.

For every  $a \in W \otimes \Lambda^k$  the adjoint action of a in the Lie algebra, the so-called inner derivation  $[a, \cdot]$  is defined by

$$[a, \cdot]b := [a, b].$$

Because  $\circ_{\Pi}$  is associative and grading, the inner derivations satisfy

$$[a, \cdot](b \circ_{\Pi} c) = ([a, \cdot]b) \circ_{\Pi} c + (-1)^{kl} b \circ_{\Pi} ([a, \cdot]c)$$

and are  $\circ_{\Pi}$  super derivations  $\mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet + k}$ .

The so-called quasi inner derivations

$$\frac{1}{\lambda}[a, \cdot]$$

are also well defined because of the super commutativity of  $\mu$ . For example the super derivation  $\delta$  can be written as a quasi inner derivation

$$-\delta = \frac{1}{\lambda} [\delta^{-1}\omega, \cdot].$$

The equation  $[\mathbf{D}, \frac{i}{\lambda}[a, \cdot]] = \frac{i}{\lambda}[\mathbf{D}a, \cdot]$  is valid if **D** is a  $\circ_{\Pi}$  super derivation. For a connection  $\nabla$  obviously  $\nabla_{\partial_i}$  is a  $\mu$  derivation. The maps  $\partial : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$ and  $\partial^* : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet}$  defined by

$$\partial := (1 \otimes dx^i) \nabla_{\partial_i}$$
 and  $\partial^* := (dx^i \otimes 1) \nabla_{\partial_i}$ 

are super derivations with respect to  $\mu$ .

That the following equations are valid

$$[\delta, \partial^*] = \partial, \qquad [\delta^*, \partial] = \partial^*, \qquad [\delta, \partial] = 0, \qquad [\delta^*, \partial^*] = 0$$

can be shown with the tensor calculus.

A symplectic manifold  $(M, \omega)$  always admits symplectic connections [13]. Because a symplectic connection is torsion-free and for  $f \otimes \alpha \in W \otimes \Lambda^{\bullet}$  the equation

$$\partial(f \otimes \alpha) = \nabla_{\partial_i} f \otimes \mathrm{d} x^i \wedge \alpha + f \otimes \mathrm{d} \alpha$$

is valid.

The Christoffel symbols of a symplectic connection satisfy

$$\frac{\partial \Pi^{kl}}{\partial x^i} + \Pi^{rl} \Gamma^k_{ir} + \Pi^{kr} \Gamma^l_{ir} = 0,$$

and from calculation it follows that  $\nabla_{\partial_i}$  is a  $\circ_{\Pi}$  derivation. This fact yields that the map  $\partial := (1 \otimes dx^i) \nabla_{\partial_i}$ , defined with a symplectic connection  $\nabla$ , is a super derivation  $\mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$  with respect to  $\circ_{\Pi}$ .

*1.2.2. Recursive flat differentials* The first main step in Fedosov's construction is the existence of flat  $\circ_{\Pi}$  super derivations  $\mathcal{D} : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$  of the shape  $-\delta + \partial + \frac{i}{\lambda}[\mathcal{R}, \cdot]$  with  $\mathcal{R} \in \mathcal{W}^{(2)} \otimes \Lambda^{1}$ . The condition that  $(-\delta + \partial + \frac{i}{\lambda}[\mathcal{R}, \cdot])^{2}$  vanishes is equivalent to the fact that  $m := \partial + \frac{i}{\lambda}[\mathcal{R}, \cdot]$  obeys the Maurer–Cartan equation

$$[-\delta, m] + \frac{1}{2}[m, m] = 0.$$

Because of

$$\partial^2 = \frac{\mathrm{i}}{\lambda} [R, \cdot]$$

where R is given by

$$R = \frac{1}{4}\omega_{kr}R^r_{lij}\,\mathrm{d}x^k\vee\mathrm{d}x^l\otimes\mathrm{d}x^i\wedge\mathrm{d}x^j$$

in the Weyl case and

$$R = \frac{1}{2} g_{k\overline{r}} R^{\overline{r}}_{\overline{l}i\overline{j}} \mathrm{d} z^k \vee \mathrm{d} \overline{z}^l \otimes \mathrm{d} z^i \wedge \mathrm{d} \overline{z}^j,$$

in the Wick case [5, 16], the curvature of the connection gets involved.

The equations

 $\delta R = 0$  and  $\partial R = 0$ 

are consequences of the Bianchi identities.

With the Deg-adic topology  $\mathcal{W}^{(2)} \otimes \Lambda^1$  is a complete ultra-metric space.

**Theorem 1.2.2.** For a formal series of closed two forms  $\Omega \in \lambda \Gamma^{\infty}(\Lambda^2 T^* M)[[\lambda]]$  and every  $S \in W^{(3)} \otimes \Lambda^0$  with  $\sigma(S) = 0$  there exists a unique element  $\mathcal{R}_{\Omega,S} \in W^{(2)} \otimes \Lambda^1$  satisfying

$$\delta \mathcal{R}_{\Omega,S} = \Omega + R + \partial \mathcal{R}_{\Omega,S} + \frac{1}{\lambda} \mathcal{R}_{\Omega,S} \circ_{\Pi} \mathcal{R}_{\Omega,S} \quad and \quad \delta^{-1} \mathcal{R}_{\Omega,S} = S.$$

According to Banach's fixed-point theorem  $\mathcal{R}_{\Omega,S}$  is the unique solution of the Fedosov fixedpoint equation

$$\mathcal{R}_{\Omega,S} = \delta S + \delta^{-1} \left( \Omega + R + \partial \mathcal{R}_{\Omega,S} + \frac{1}{\lambda} \mathcal{R}_{\Omega,S} \circ_{\Pi} \mathcal{R}_{\Omega,S} \right).$$

In this case the  $\circ_{\Pi}$  super derivation  $\mathcal{D}_{\Omega,S} = -\delta + \partial + \frac{i}{\lambda} [\mathcal{R}_{\Omega,S}, \cdot]$  is flat.

Since Deg is a  $\circ_{\Pi}$  derivation it is true that  $\mathcal{R}_{\Omega,\mathcal{S}}$  satisfies the recursion

$$\mathcal{R}_{\Omega,\mathcal{S}}{}^{(2)} = \delta \mathcal{S}^{(3)}$$

and

$$\mathcal{R}_{\Omega,\mathcal{S}}^{(2+k)} = (\delta\mathcal{S} + \delta^{-1}(R+\Omega))^{(2+k)} + \delta^{-1} \left( \partial\mathcal{R}_{\Omega,\mathcal{S}}^{(1+k)} + \frac{\mathrm{i}}{\lambda} \sum_{l=1}^{k} \mathcal{R}_{\Omega,\mathcal{S}}^{(1+l)} \circ_{\Pi} \mathcal{R}_{\Omega,\mathcal{S}}^{(k+2-l)} \right)$$

for  $k \ge 1$ , but a non-recursive formula in this essential theorem is missing in [8].

Furthermore, an example of a non-zero curvature Fedosov construction is missing. It is the intention of this work to take care and answer these two important issues in the

following sections.

1.2.3. Fedosov star products Let

$$\mathcal{D}_{\Omega,\mathcal{S}} = -\delta + \partial + \frac{1}{\lambda} [\mathcal{R}_{\Omega,\mathcal{S}}, \cdot]$$

be a flat  $\circ_{\Pi}$  super derivation  $\mathcal{D}_{\Omega,S} : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$  on the symplectic manifold  $(M, \omega)$ . The map

$$\mathcal{D}_{\Omega,\mathcal{S}}^{-1} := -\frac{1}{1 - \left[\delta^{-1}, \, \partial + \frac{\mathrm{i}}{\lambda} \left[\mathcal{R}_{\Omega,\mathcal{S}}, \, \cdot \, \right]\right]} \delta^{-1}$$

is in the Deg-adic topology a well-defined endomorphism  $\mathcal{D}_{\Omega,S}^{-1} : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet-1}$ because  $\left[\delta^{-1}, \partial + \frac{i}{\lambda} [\mathcal{R}_{\Omega,S}, \cdot]\right]$  is a linear contraction mapping.

# Lemma 1.2.3 (Deformed Poincaré lemma).

$$\mathcal{D}_{\Omega,S}^{-1}\mathcal{D}_{\Omega,S} + \mathcal{D}_{\Omega,S}\mathcal{D}_{\Omega,S}^{-1} + \frac{1}{1 - \delta^{-1} \left(\partial + \frac{i}{\lambda} [\mathcal{R}_{\Omega,S}, \cdot]\right)} \sigma = id.$$

The deformed Poincaré lemma implies that the Fedosov-Taylor series

$$\tau_{\Omega,\mathcal{S}}: C^{\infty}(M)[[\lambda]] \to \mathcal{W} \otimes \Lambda^0 \cap ker \ \mathcal{D}_{\Omega,\mathcal{S}}$$

defined by

$$\tau_{\Omega,\mathcal{S}}(f) := \frac{1}{1 - \delta^{-1} \left( \partial + \frac{\mathrm{i}}{\lambda} [\mathcal{R}_{\Omega,\mathcal{S}}, \cdot] \right)} f$$

is a  $\mathbb{C}[[\lambda]]$ -linear bijection with inverse  $\sigma$ .

**Theorem 1.2.4.** On a symplectic manifold  $(M, \omega)$  by

$$f \star_{\nabla,\Omega,\mathcal{S}} g := \sigma(\tau_{\Omega,\mathcal{S}}(f) \circ_{\Pi} \tau_{\Omega,\mathcal{S}}(g))$$

star products are defined.

In the Weyl case  $\star_{\nabla,\Omega,S}$  satisfies

$$f \star_{\nabla,\Omega,\mathcal{S}} g = fg + \frac{i\lambda}{2} \{f,g\} + O(\lambda^2),$$

and in the Wick case  $\star_{\nabla,\Omega,\mathcal{S}}$  satisfies

$$f \star_{\nabla,\Omega,\mathcal{S}} g - g \star_{\nabla,\Omega,\mathcal{S}} f = \mathrm{i}\lambda\{f,g\} + O(\lambda^2).$$

**Theorem 1.2.5 (Equivalence of Fedosov star products).** *The two Fedosov star products*  $\star_{\nabla,\Omega,S}$  *and*  $\star_{\nabla',\Omega',S'}$  *on a symplectic manifold*  $(M, \omega)$  *are equivalent if and only if* 

$$[\Omega] = [\Omega'] \in \lambda H^2_{dR}(M, \mathbb{C})[[\lambda]].$$

Moreover Nest and Tsygan showed in [15] that every star product on a symplectic manifold is equivalent to a Fedosov star product, which substantiates the importance of the Fedosov construction in deformation quantization.

# 2. Non-recursive flat differentials

#### 2.1. Non-recursive classical differentials

The projection on the classical part of a quantum Fedosov super derivation  $\mathcal{W} \otimes \Lambda^{\bullet} \rightarrow \mathcal{W} \otimes \Lambda^{\bullet+1}$  is independent of  $\Omega \in \lambda \Gamma^{\infty}(\Lambda^2 T^* M)[[\lambda]]$  and in the deg<sub>s</sub>-adic topology a well-defined flat  $\mu$  super derivation [7].

On every manifold there also exists another natural  $\mu$  super differential  $\mathcal{W} \otimes \Lambda^{\bullet} \rightarrow \mathcal{W} \otimes \Lambda^{\bullet+1}$  of familiar shape in  $-1 \leq \deg_s \leq 0$ .

**Theorem 2.1.1.** In the deg<sub>s</sub>-adic topology the map  $\mathcal{D}: \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$  defined by

$$\mathcal{D} := -\exp(\partial^*)\delta \exp(-\partial^*)$$

is a well-defined flat  $\mu$  super derivation.

**Proof.** Sorting of  $\mathcal{D}$  in the symmetric degree shows  $\mathcal{D} = \sum_{s=-1}^{\infty} \mathcal{D}^s$ , where the super derivations  $\mathcal{D}^s = -\frac{1}{(s+1)!} \sum_{h=0}^{s+1} (-1)^h {\binom{s+1}{h}} (\partial^*)^{s+1-h} \delta(\partial^*)^h : \mathcal{W} \otimes \Lambda^{\bullet} \to \mathcal{W} \otimes \Lambda^{\bullet+1}$  satisfy the recursion  $\mathcal{D}^{-1} = -\delta$  and  $\mathcal{D}^s = \frac{1}{s+1} [\partial^*, \mathcal{D}^{s-1}] \quad \forall s \ge 0$ .

That  $\mathcal{D}$  squares to zero is easy to see because of  $\delta^2 = 0$  and the exponential addition theorem.

Calculation shows

$$\mathcal{D} = -(1 \otimes \mathrm{d} x^i) i_s(\partial_i) + (1 \otimes \mathrm{d} x^i) \nabla_{\partial_i} - \frac{1}{2} (\mathrm{d} x^j \otimes \mathrm{d} x^i) (R(\partial_i, \partial_j) - T^m_{ij} \nabla_{\partial_m}) + \{\mathrm{deg}_s \ge 2\}.$$

# 2.2. Non-recursive Fedosov differentials

Applying the geometrical series  $(1 - \delta^{-1}\partial)^{-1}$  on the Fedosov fixed-point equation

$$\mathcal{R}_{\Omega,\mathcal{S}} = \delta \mathcal{S} + \delta^{-1}(\Omega + R) + \delta^{-1} \partial \mathcal{R}_{\Omega,\mathcal{S}} + \frac{1}{2\lambda} \delta^{-1}[\mathcal{R}_{\Omega,\mathcal{S}}, \mathcal{R}_{\Omega,\mathcal{S}}]$$

shows a new 'quadratic' fixed-point equation

$$\mathcal{R}_{\Omega,\mathcal{S}} = \mathbf{R}_{\Omega,\mathcal{S}} + \mathcal{R}_{\Omega,\mathcal{S}} \Diamond \mathcal{R}_{\Omega,\mathcal{S}}$$

where

$$\mathbf{R}_{\Omega,\mathcal{S}} := \frac{1}{1 - \delta^{-1}\partial} (\delta \mathcal{S} + \delta^{-1}(\Omega + R))$$

is the inhomogeneity and the non-fiberwise binary operation  $\Diamond : (\mathcal{W} \otimes \Lambda^k) \times (\mathcal{W} \otimes \Lambda^l) \rightarrow$  $\mathcal{W} \otimes \Lambda^{k+l-1}$  defined by

$$\Diamond := \frac{\mathrm{i}}{2\lambda} \frac{1}{1 - \delta^{-1} \partial} \delta^{-1} [\cdot, \cdot]$$

replaces the fiberwise binary operation  $\frac{i}{2\lambda}\delta^{-1}[\cdot, \cdot]$ .

The two fixed-point equations are equivalent, in the sense that they define the same unique fixed point but the linear term  $\delta^{-1}\partial$  in the contraction mapping, defining the unique fixed point, is canceled.

The bilinear binary operation  $\Diamond : (\mathcal{W} \otimes \Lambda^1) \times (\mathcal{W} \otimes \Lambda^1) \to \mathcal{W} \otimes \Lambda^1$  is commutative but non-associative. The next well-known lemma explains why the new fixed-point equation for  $\mathcal{R}_{\Omega,\mathcal{S}}$  should be called the standard 'quadratic' fixed-point equation.

## Lemma 2.2.1 (Parentheses and Catalan numbers). There exist

$$C_n := \frac{1}{n!} \frac{\partial^n}{\partial z^n} \left( \frac{1 - \sqrt{1 - 4z}}{2} \right) (0)$$

different ways in which a sequence of n factors  $a_i$  and n-1 binary operations  $\Diamond_i$  can be well parenthesized.

The reason for this lemma is that the generating function of the Catalan numbers The reason  $C_n z^n$  satisfies  $C(z) = z + C^2(z)$  because of the Cauchy product and the recursion  $C_0 = 0$ ,  $C_1 = 1$  and  $C_n = \sum_{l=1}^{n-1} C_l C_{n-l} \forall n \ge 2$ . The definition as a formal series and  $C_0 = 0$  result in  $C(z) = (1 - \sqrt{1 - 4z})/2$ . The equation  $C_n = \frac{1}{n} {\binom{2n-2}{n-1}} \forall n \in \mathbb{N}^+$  is well known.

The quadratic equation for the generating function of Catalan numbers is central to the solution of Fedosov's fixed-point equation with a similar structure.

To distinguish all different parentheses numbering them by  $(a_1 \Diamond_1 \cdots \Diamond_{n-1} a_n)_p$  or just  $(a)_p^{\Diamond n}$  if  $a_i = a$  and  $\Diamond_i = \Diamond$  with  $1 \leq p \leq C_n$  makes sense.

**Theorem 2.2.2.** The Fedosov derivation  $\mathcal{D}_{\Omega}$  is

$$\mathcal{D}_{\Omega} = -\delta + \partial + \frac{\mathrm{i}}{\lambda} \left[ \sum_{n=1}^{\infty} \sum_{p=1}^{C_n} \left( \frac{1}{1 - \delta^{-1} \partial} \delta^{-1} (\Omega + R) \right)_p^{(\frac{\mathrm{i}}{2\lambda} \frac{1}{1 - \delta^{-1} \partial} \delta^{-1} [\cdot, \cdot])n} \right], \quad \cdot \quad ]$$

The unique fixed point  $\mathcal{R}_{\Omega,\mathcal{S}}$  of the standard 'quadratic' contraction mapping Proof.  $Q: \mathcal{W}^{(2)} \otimes \Lambda^1 \to \mathcal{W}^{(2)} \otimes \Lambda^1$  defined by

$$Q(a) := \mathbf{R}_{\Omega,\mathcal{S}} + (a)_1^{\Diamond 2}$$

is required.

By degree counting

$$\Diamond: (\mathcal{W}^{(2+n_l)} \otimes \Lambda^1) \times (\mathcal{W}^{(2+n_r)} \otimes \Lambda^1) \to \mathcal{W}^{(3+n_l+n_r)} \otimes \Lambda^1,$$

and

$$(\mathbf{R}_{\Omega,\mathcal{S}})_p^{\Diamond(1+n)} \in \mathcal{W}^{(2+n)} \otimes \Lambda^1$$

is obvious.

Induction over N shows that the Banach fixed-point iteration is

$$Q^{N+1}(0) = \mathbf{R}_{\Omega,\mathcal{S}} + \underbrace{(\mathbf{R}_{\Omega,\mathcal{S}} + (\mathbf{R}_{\Omega,\mathcal{S}} + (\dots (\mathbf{R}_{\Omega,\mathcal{S}} + (\mathbf{R}_{\Omega,\mathcal{S}})_1^{\Diamond 2})_1^{\Diamond 2} \dots)_1^{\Diamond 2})_1^{\Diamond 2}}_N$$

In this non-associative setting the right suggestion is to take all different parentheses.

Because of the Catalan recursion it is in some sense a universal formula that by  $\mathcal{R} := \sum_{n=1}^{\infty} \sum_{p=1}^{C_n} (\mathbf{R})_p^{\Diamond n}$ , if it is convergent, a fixed point  $\mathcal{R}$  of a standard 'quadratic' fixed-point equation of the form  $\mathcal{R} = \mathbf{R} + (\mathcal{R})_1^{\Diamond 2}$  is defined. The following calculation shows that the unique fixed point  $\mathcal{R}_{\Omega,\mathcal{S}} \in \mathcal{W}^{(2)} \otimes \Lambda^1$  of the Fedosov fixed-point equation is

$$\mathcal{R}_{\Omega,\mathcal{S}} := \sum_{n=1}^{\infty} \sum_{p=1}^{C_n} \left( \frac{1}{1-\delta^{-1}\partial} (\delta\mathcal{S} + \delta^{-1}(\Omega + R)) \right)_p^{(\frac{1}{2\lambda} \frac{1}{1-\delta^{-1}\partial} \delta^{-1}[\cdot, \cdot])n}$$

First of all  $\lim_{N\to\infty} \sum_{n=1}^{N} \sum_{p=1}^{C_n} (\mathbf{R}_{\Omega,S})_p^{\Diamond n} \in \mathcal{W}^{(2)} \otimes \Lambda^1$  is clearly convergent and well defined in the Deg-adic topology:

$$Q(\mathcal{R}_{\Omega,S}) = Q\left(\lim_{N \to \infty} \sum_{n=1}^{N} \sum_{p=1}^{C_n} (\mathbf{R}_{\Omega,S})_p^{\Diamond n}\right) = \lim_{N \to \infty} Q\left(\sum_{n=1}^{N} \sum_{p=1}^{C_n} (\mathbf{R}_{\Omega,S})_p^{\Diamond n}\right)$$
$$= (\mathbf{R}_{\Omega,S})_1^{\Diamond 1} + \lim_{N \to \infty} \left\{\sum_{\substack{n_{l,r} \in \mathbb{N}^+ \\ n_l + n_r \leq N+1 \\ 1 \leq p_{l,r} \leq C_{n_{l,r}}} (\mathbf{R}_{\Omega,S})_{p_l}^{\Diamond n_l} \Diamond (\mathbf{R}_{\Omega,S})_{p_r}^{\Diamond n_r} + \sum_{\substack{1 \leq n_{l,r} \leq N \\ n_l + n_r > N+2 \\ 1 \leq p_{l,r} \leq C_{n_{l,r}}}} (\mathbf{R}_{\Omega,S})_{p_r}^{\Diamond n_l} \Diamond (\mathbf{R}_{\Omega,S})_{p_r}^{\Diamond n_r}\right).$$

Because of

$$(\mathbf{R}_{\Omega,\mathcal{S}})_p^{\diamondsuit(2+N)} \in \mathcal{W}^{(3+N)} \otimes \Lambda^1$$

the last term converges to zero in the Deg-adic topology and the calculation results in

$$Q(\mathcal{R}_{\Omega,\mathcal{S}}) = (\mathbf{R}_{\Omega,\mathcal{S}})_{1}^{\Diamond 1} + \sum_{\substack{n_{l,r} \in \mathbb{N}^{+}, n \geq 2\\n_{l}+n_{r}=n\\1 \leqslant p_{l,r} \leqslant C_{n_{l,r}}}} (\mathbf{R}_{\Omega,\mathcal{S}})_{p_{l}}^{\Diamond n_{l}} \Diamond (\mathbf{R}_{\Omega,\mathcal{S}})_{p_{r}}^{\Diamond n_{r}} = \mathcal{R}_{\Omega,\mathcal{S}}.$$

# **3.** The Fedosov construction for $\mathbb{C}^n$ , $\mathbb{D}^n$ and $\mathbb{CP}^n$

The deformation quantization of the complex projective space  $\mathbb{CP}^n$  is from a physical point of view an interesting example for the reduced phase space of an isotropic harmonic oscillator with n + 1 degrees of freedom.

*3.1.* The Fedosov differential for  $\mathbb{C}^n$ ,  $\mathbb{D}^n$  and  $\mathbb{CP}^n$ 

**Theorem 3.1.1.** For a Kaehler manifold of constant holomorphic sectional curvature C, Wick case of Fedosov construction and every formal power series  $f(\lambda) \in \mathbb{C}[[\lambda]]$  the flat connection  $\mathcal{D}_{-4\lambda f(\lambda)\omega}$  is

$$\mathcal{D}_{-4\lambda f(\lambda)\omega} = \partial - \frac{1}{2\lambda} \left[ \sum_{n=0}^{\infty} (-1)^n \left( \frac{\sum_{l=0}^n (-1)^l {n \choose l} \sqrt{1 - 4\lambda (f(\lambda) + lC)}}{n! (2\lambda)^n} \right) g^{\vee n} \rho, \dots \right],$$
  
where  $\rho$  and  $g^{\vee n} \rho$  denote  $\rho = g_{i\overline{j}} (\mathrm{d} z^i \otimes \overline{\mathrm{d} z}^j - \overline{\mathrm{d} z}^j \otimes \mathrm{d} z^i)$  and  $g^{\vee n} \rho = \underbrace{g \vee \ldots \vee g}_n \cdot \rho.$ 

**Proof.** At first the super derivation  $\delta$  can be written as a quasi inner derivation  $\delta = \frac{1}{2\lambda} [\rho, \cdot]$ .

It is common sense [11] that the curvature tensor of a Kaehler manifold M of constant holomorphic sectional curvature C satisfies

$$R_{k\bar{l}i\bar{j}} = -C(g_{k\bar{l}}g_{i\bar{j}} + g_{k\bar{j}}g_{\bar{l}i}),$$

and *M* is holomorphically isometric to  $\mathbb{C}^n$ ,  $\mathbb{D}^n$  or the complex projective space  $\mathbb{CP}^n$  if C = 0, C < 0 or C > 0 if M is simply connected.

**Proposition 3.1.2.** If  $\nabla_X \Omega = \nabla_X R = 0$  for all  $X \in \Gamma^{\infty}(TM)$  the fixed point  $\mathcal{R}_{\Omega}$  only has odd numbers of total degree  $\text{Deg} \ge 3$ , is likewise covariant constant and given by

$$\mathcal{R}_{\Omega} = \sum_{n=1}^{\infty} \sum_{k=1}^{C_n} (\delta^{-1}(R+\Omega))_p^{(\frac{i}{2\lambda}\delta^{-1}[\cdot,\cdot])n}.$$

The proof of this proposition is based on the two facts that  $\nabla_X$  is a  $\circ_{\Pi}$  derivation and commutes with  $\delta^{-1}$ . These facts imply that the geometric series  $(id - \delta^{-1}\partial)^{-1}$  in theorem 2.2.2 break off to the identity.

That the even numbers of total degree  $\text{Deg} \ge 4$  vanish is easy to prove by induction over the total degree, because  $\delta^{-1}(\Omega + R)$  only has odd numbers of total degree  $\text{Deg} \ge 3$ .

For

$$\Omega_f := 2\lambda f(\lambda) \frac{1}{i} g_{i\overline{j}} dz^i \wedge d\overline{z}^j = -4\lambda f(\lambda)\omega \in \lambda \Gamma^{\infty}(\Lambda^2 T^* M)[[\lambda]],$$

the proposition 3.1.2 and  $R_{k\bar{l}i\bar{j}} = -C(g_{k\bar{l}}g_{i\bar{j}} + g_{k\bar{j}}g_{\bar{l}i})$  imply

$$\mathcal{R}_{\Omega_f} = \sum_{n=1}^{\infty} \sum_{k=1}^{C_n} \left( 2\lambda f(\lambda) \frac{1}{2i} g^{\vee 0} \rho + \frac{C}{2i} g^{\vee 1} \rho \right)_p^{\left(\frac{i}{2\lambda} \delta^{-1} [\cdot, \cdot]\right) n}.$$

Only the Kaehler metric and insertion operators appear in this equation.

#### **Proposition 3.1.3.**

$$g^{\vee n_1} \rho\left(\frac{i}{2\lambda} \delta^{-1}[\,\cdot\,,\,\,\cdot\,]\right) g^{\vee n_2} \rho = i \sum_{n=0}^{\min\{n_1,n_2\}} (2\lambda)^n n! \binom{n_1}{n} \binom{n_2}{n} g^{\vee n_1+n_2-n} \rho.$$

With the identity

$$\frac{n!}{(n_1+n_2+2-n)} \left[ \binom{n_2}{n} \binom{n_1}{n-1} + \binom{n_2}{n-1} \binom{n_1}{n} + \binom{n_1}{n-1} \binom{n_2}{n-1} \right]$$
$$= (n-1)! \binom{n_1}{n-1} \binom{n_2}{n-1},$$

for  $n, n_1, n_2 \in \mathbb{N}$  the proof of the proposition is a straightforward calculation.

A projection of the proposition 3.1.3 on deg<sub> $\lambda$ </sub> = 0 and calculation results in a formula for the classical part of  $\mathcal{R}_{\Omega_f}$ :

$$\mathcal{R}_{\Omega_{f_0}^{2n+1}} = \frac{C_n}{\mathrm{i}} \left(\frac{C}{2}\right)^n g^{\vee n} \rho.$$

The two propositions 3.1.2 and 3.1.3, taken together, imply

$$\mathcal{R}_{\Omega_f} = \sum_{n=0}^{\infty} C_n(2\lambda) g^{\vee n} \rho$$

with  $C_n(2\lambda) \in \mathbb{C}[[\lambda]]$ .

The explicit combinatoric of proposition 3.1.3 and the 'quadratic' fixed-point equation result in the recursion

$$C_0(2\lambda) = \frac{1 \pm \sqrt{1 - 4\lambda f(\lambda)}}{2i},$$

and

$$C_{n\pm}(2\lambda) = \frac{-b_n \pm \sqrt{b_n^2 - 4\mathrm{i}(2\lambda)^n n! c_n}}{2\mathrm{i}(2\lambda)^n n!} \quad \forall n \ge 1,$$

where  $b_n$  and  $c_n$  are

$$b_n = -1 + 2i \sum_{n_1=0}^{n-1} C_{n_1}(2\lambda)(2\lambda)^{n_1} n_1! \binom{n}{n_1}$$

and

$$c_n = i \sum_{n_1, n_2=1}^{n-1} C_{n_1}(2\lambda) C_{n_2}(2\lambda) (2\lambda)^{n_1+n_2-n} (n_1+n_2-n)! \binom{n_1}{n-n_2} \binom{n_2}{n-n_1}.$$

The equation

$$C_n(2\lambda) = (-1)^{n+1} \left( \frac{\sum_{l=0}^n (-1)^l \binom{n}{l} \sqrt{1 - 4\lambda(f(\lambda) + lC)}}{2\mathrm{i}n! (2\lambda)^n} \right) \quad \forall n \ge 1$$

can be proved by induction.

At first the well-known fact

$$\sum_{m=0}^{n} (-1)^m m^k \binom{n}{m} = 0,$$

if  $n \in \mathbb{N}^+$  and  $k \in \mathbb{N}$  with k < n, is locking out principal Laurent parts of  $C_n(2\lambda)$ .

The so-called trinomial revision

$$\binom{h}{m}\binom{m}{k} = \binom{h}{k}\binom{h-k}{m-k}$$

and a lemma known as orthogonality

$$\sum_{m=m_1}^{m_2} (-1)^{m_1+m} \binom{m_2}{m} \binom{m}{m_1} = \delta_{m_1}^{m_2}$$

if  $m_1, m_2 \in \mathbb{N}$ , are helpful for computing in the inductive step.

Some substitutions and the orthogonality by induction over n show the following proposition, which is helpful for the calculation of the discriminant in the inductive step.

Proposition 3.1.4. If 
$$l_1, l_2 \in \mathbb{N}$$
,  $n \in \mathbb{N}^+$  and  $0 \leq l_1, l_2 \leq n$ ,  
 $\binom{n+1}{l_1} - \sum_{n_1=l_1}^n \sum_{n_2=l_2}^n (-1)^{n_1+n_2} \binom{n+1-l_2}{n+1-n_2} \binom{n_2}{n+1-n_1} \binom{n_1}{l_1} = (-1)^{n+l_1} \delta_{l_2}^{l_1}.$ 

10

3.2. Fedosov star products for  $\mathbb{C}^n$ ,  $\mathbb{D}^n$  and  $\mathbb{CP}^n$ 

**Theorem 3.2.1.** For a formal power series  $f(\lambda) \in \mathbb{C}[[\lambda]]$ , Wick case and the closed twoform  $\Omega_f := -4\lambda f(\lambda)\omega \in \lambda\Gamma^{\infty}(\Lambda^2T^*M)[[\lambda]]$  the purely holomorphic part  $\pi_z\tau_{\Omega_f}(h)$  and the purely anti-holomorphic part  $\pi_{\overline{z}}\tau_{\Omega_f}(g)$  of the Fedosov–Taylor series on Kaehler manifolds of constant holomorphic sectional curvature *C* are

$$\pi_z \tau_{\Omega_f}(h) = \sum_{n=0}^{\infty} \left( \prod_{l=0}^{n-1} \frac{1}{\sqrt{1 - 4\lambda(f(\lambda) + lC)}} \right) \left( \delta_z^{-1} \partial_z \right)^n h$$

and

$$\pi_{\overline{z}}\tau_{\Omega_f}(g) = \sum_{n=0}^{\infty} \left( \prod_{l=0}^{n-1} \frac{1}{\sqrt{1-4\lambda(f(\lambda)+lC)}} \right) \left( \delta_{\overline{z}}^{-1} \partial_{\overline{z}} \right)^n g.$$

**Proof.** According to Neumaier [16] the purely holomorphic part  $\pi_z \tau_{\Omega_f}(h)$  and the purely anti-holomorphic part  $\pi_{\overline{z}} \tau_{\Omega_f}(g)$  of the Fedosov–Taylor series satisfy independent fixed-point equations in special cases.

## Lemma 3.2.2.

1. If 
$$\pi_{z}\mathcal{R}_{\text{Wick}} = 0$$
, then  $\pi_{z}\tau_{\text{wick}}(h) \forall h \in C^{\infty}(M)[[\lambda]]$  satisfies  
 $\pi_{z}\tau_{\text{wick}}(h) = h + \delta_{z}^{-1} \Big(\partial_{z}\pi_{z}\tau_{\text{wick}}(h) - \frac{i}{\lambda}\pi_{z}(\pi_{z}\tau_{\text{wick}}(h) \circ_{\text{wick}}\mathcal{R}_{\text{Wick}})\Big).$ 
2. If  $\pi_{\overline{z}}\mathcal{R}_{\text{Wick}} = 0$ , then  $\pi_{\overline{z}}\tau_{\text{wick}}(g) \forall g \in C^{\infty}(M)[[\lambda]]$  satisfies the equation  
 $\pi_{\overline{z}}\tau_{\text{wick}}(g) = g + \delta_{\overline{z}}^{-1}\Big(\partial_{\overline{z}}\pi_{\overline{z}}\tau_{\text{wick}}(g) + \frac{i}{\lambda}\pi_{\overline{z}}(\mathcal{R}_{\text{Wick}}\circ_{\text{wick}}\pi_{\overline{z}}\tau_{\text{wick}}(g))\Big).$ 

The next proposition is a test of the fiberwise operations  $\frac{i}{\lambda} \delta_z^{-1} \pi_{\overline{z}}[g^{\vee m} \rho, \cdot]$  and  $\frac{i}{\lambda} \delta_z^{-1} \pi_z[g^{\vee m} \rho, \cdot]$  on symmetric and purely holomorphic or purely anti-holomorphic elements.

# **Proposition 3.2.3.**

1. If 
$$S \in \Gamma^{\infty}(\vee^{s}T^{*}M)$$
 with  $\pi_{z}S = S$ , then  

$$-\frac{i}{\lambda}\delta_{z}^{-1}\pi_{z}(S \circ_{\Pi} g^{\vee m}\rho) = i2(2\lambda)^{m}m!\binom{s-1}{m}S.$$
2. If  $\overline{S} \in \Gamma^{\infty}(\vee^{s}T^{*}M)$  with  $\pi_{\overline{z}}\overline{S} = \overline{S}$ , then  

$$+\frac{i}{\lambda}\delta_{\overline{z}}^{-1}\pi_{\overline{z}}(g^{\vee m}\rho \circ_{\Pi}\overline{S}) = i2(2\lambda)^{m}m!\binom{\overline{s}-1}{m}\overline{S}.$$

This proposition again follows by a straightforward calculation and implies

$$\pi_{\overline{z}}\tau_{\Omega_f}(h) = \sum_{n=0}^{\infty} T_n(2\lambda) \left(\delta_{\overline{z}}^{-1}\partial_{\overline{z}}\right)^n h \quad \text{and} \quad \pi_{\overline{z}}\tau_{\Omega_f}(g) = \sum_{n=0}^{\infty} \overline{T}_n(2\lambda) \left(\delta_{\overline{z}}^{-1}\partial_{\overline{z}}\right)^n g.$$

The fixed-point equations of Neumaier 3.2.2, theorem 3.1.1, proposition 3.2.3 and the orthogonality, taken together, yield the recursion

$$T_o(2\lambda) = 1 = \overline{T}_0(2\lambda)$$

and

$$T_{n-1}(2\lambda) = \sqrt{1 - 4\lambda(f(\lambda) + (n-1)C)}T_n(2\lambda) = \overline{T}_{n-1}(2\lambda)$$

 $\forall n \ge 1.$ 

Neumaier showed in [16] that Fedosov's construction on a pseudo-Kaehler manifold is universal in the sense that it yields all star products of Wick type.

Another result in [16] is that the purely holomorphic part  $\pi_z \tau_{wick}(h)$  and the purely antiholomorphic part  $\pi_{\overline{z}} \tau_{wick}(g)$  of the Fedosov–Taylor series are sufficient for calculating the Wick-type star product by

$$h \star_{\text{wick}} g = \sigma(\pi_z \tau_{\text{wick}}(h) \circ_{\text{wick}} \pi_{\overline{z}} \tau_{\text{wick}}(g))$$

The explicit formulae of theorem 3.2.1 finally result in

**Theorem 3.2.4.** For a Kaehler manifold M of constant holomorphic sectional curvature Cand the closed two-form  $\Omega_f := -4\lambda f(\lambda)\omega \in \lambda\Gamma^{\infty}(\Lambda^2T^*M)[[\lambda]]$  the Fedosov Wick-type star product  $\star_{\Omega_f} C^{\infty}(M)[[\lambda]] \times C^{\infty}(M)[[\lambda]] \to C^{\infty}(M)[[\lambda]]$  is

$$h \star_{\Omega_f} g = \sum_{n=0}^{\infty} \frac{(2\lambda)^n}{n!} \left( \prod_{l=0}^{n-1} \frac{1}{1 - 4\lambda(f(\lambda) + lC)} \right) \mu \circ P^n \left( \left( \delta_z^{-1} \partial_z \right)^n h \otimes \left( \delta_{\overline{z}}^{-1} \partial_{\overline{z}} \right)^n g \right).$$

#### 4. Conclusion

A non-recursive formula for the unique solution of Fedosov's 'quadratic' fixed-point equation in the general case was shown. This result is of interest because this fixed point is the corner stone in Fedosov's deformation quantization of symplectic manifolds and offers a method to formulate index theorems [9, 10, 17]. Also the proof could be interesting to deal with nonlinear, in some sense 'quadratic' fixed-point equations.

An adapted example for Kaehler manifolds of constant holomorphic sectional curvature C was considered in detail. This example is the first non-zero curvature example of a Fedosov construction.

A classical flat super derivation, well defined in the deg<sub>s</sub>-adic topology and with familiar shape in  $-1 \leq \deg_s \leq 0$  likewise the classical part of the Fedosov super derivation, was introduced.

## Acknowledgments

First off all I would like to thank the Römer research group at the Albert-Ludwigs-Universität Freiburg and in particular Hartmann Römer, Nikolai Neumaier and Stefan Waldmann for a lot of most interesting lectures. I also want to thank the organizers of the conference on representation theory and quantization, held in Zürich in January 2010, for a kind invitation to this most interesting conference. Finally I would like to give thanks to my friends and family.

# References

- Lichnerowicz A 1979 Deformation theory and quantization Group Theoretical Methods in Physics vol 94 (Berlin: Springer) pp 280–9
- Bayen F, Flato M, Frønsdal C, Lichnerowicz A and Sternheimer D 1977 Quantum mechanics as a deformation of classical mechanics *Lett. Math. Phys.* 1 521–30
- [3] Berezin F A 1975 General concept of quantization Commun. Math. Phys. 40 153-74
- [4] Berezin F A 1975 Quantization Math. USSR Izvestija 8 1109–65
- [5] Bordemann M and Waldmann S 1997 A Fedosov star-product of Wick type for Kaehler manifolds Lett. Math. Phys. 41 243–53

- [6] Cattaneo A S, Felder G and Tomassini L 2002 From local to global quantization of Poisson manifolds Duke Math. J. 115 329–52
- Cattaneo A S, Felder G and Tomassini L 1989 Sov. Phys. Dokl. 34 319-21
- [7] Emmrich C and Weinstein A 1994 The differential geometry of Fedosov's quantization *Lie Theory and Geometry*, in Honour of B. Kostant ed J-L Brylinski, R Brylinski, V Guille and V Kac (Basel: Birkhäuser, Boston) pp 217–39 (arXiv:hep-th/9311094)
- [8] Fedosov B V 1994 A simple geometrical construction of deformation quantization J. Diff. Geom. 40 213-38
- [9] Fedosov B V 1996 Deformation Quantization and Index Theory (Berlin: Akademie)
- [10] Fedosov B V 1989 Index theorem in the algebra of quantum observables Dokl. Akad. Nauk SSSR 305 835-9
- [11] Kobayashi S and Nomizu K 1996 Foundations of Differential Geometry: I and II (New York: Wiley-Interscience)
- [12] Kontsevitch M 1997 Formality conjecture Deformation Theory and Symplectic Geometry (Mathematical Physics Studies vol 20) ed S Gutt, D Sternheimer and J Rawnsley (Dordecht: Kluwer) pp 139–56
- [13] Hess H 1981 Symplectic connections in geometric quantization and factor orderings *Dissertation* Fachbereich Physik, Freie Universität Berlin
- [14] Moyal J E 1994 Quantum mechanics as a statistical theory Proc. Camb. Phil. Soc. 45 99–124
- [15] Nest R and Tsygan B 1995 Algebraic index theorem Commun. Math. Phys. 172 223-62
- [16] Neumaier N 2001 Universality of Fedosovs construction for star-products of Wick type on pseudo-Kaehler manifolds *Rep. Math. Phys.* 52 43–80
- [17] Pflaum M J, Posthuma H and Tang X 2008 Cyclic cocycles on deformation quantizations and higher index theorems arXiv:math-ph/0208020
- [18] Waldmann S 2007 Poisson-Geometrie und Deformationsquantisierung (Berlin: Springer)